Current fleet composition:

2x Dreadnought.

14x Cruiser.

17x Destroyer.

15x Monitors.

Ship classes:

Troop Transport

Size: 12

Type: Light ship

Base: 50P *0.5 Transport discount = 25 P.

Crew: Elite= +(50*12 gold)= +600 gold cost

Marines= +(10*12 gold)= +120 gold cost

Role: Transport=-50% base ship cost

Ironclad: Steel: +(4*12*0.5P)= +24 P cost

Capacity: 1200 men

Cost: 56.2 platinum Upkeep: 600 gold

Destroyer

Size: 12

Type: Light ship

Base: 50 P *2 hardwood multiplier = 100 P. **Crew**: Elite= +(50*12 gold)= +600 gold cost **Marines**= +(10*12 gold)= +120 gold cost

Role: Patrol ship = No change

Ironclad: Adamantium: +(4*12*1 P)= +48 P cost
Runed Steam Engines: +(5*12 P)= +60 P cost

Runes:Low = +(2*12 P)= +24 P cost

Cost: 239.2 platinum Upkeep: 600 gold

<u>Monitor</u>

Size: 12

Type: Monitor

Base: 40 P *2 hardwood = 80 P.

Crew: Elite= +(50*12 gold)= +600 gold cost **Marines** = +(10*12 gold)= +120 gold cost

Role: Warship =+(5*12 P)= +60 P cost, +50 G maintenance

Ironclad: Adamantine: +(4*12*1 P)= +48 P cost *Runed Steam Engines*: +(5*12 P)= +60 P cost

Runes:Good = +(5*12 P)= +60 P cost

Total cost: 315.2 platinum

Upkeep: 650 gold

Cruiser

Size: 15

Type: Frigate

Base: 80 P *2 hardwood multiplier = 160 P. **Crew**: Elite= +(50*15 gold)= +750 gold cost **Marines**= +(10*15 gold)= +150 gold cost

Role: Warship = +(5*15 P)= +75 P cost, +50 gold upkeep

Ironclad: Adamantine: +(4*15*1 P)= +60 P cost *Runed Steam Engines*: +(5*15 P)= +75 P cost

Runes:Good = +(5*15 P)= +75 P cost

Cost: 454 platinum Upkeep: 800 gold

Siege Cruiser

Size: 15

Type: Frigate

Base: 80 P *2 hardwood multiplier = 160 P. **Crew**: Elite= +(50*15 gold)= +750 gold cost **Marines**= +(10*15 gold)= +150 gold cost

Role: Siege = +(5*15 P) = $+75 P \cos t$, +100 gold upkeep

Ironclad: Adamantine: +(4*15*1 P)= +60 P cost *Runed Steam Engines*: +(5*15 P)= +75 P cost

Runes:Good = +(5*15 P)= +75 P cost **Rocket Battery**= +(2*15 P)= +30 P cost

Cost: 484 platinum Upkeep: 850 gold

Dreadnought

Size: 20

Type: Man-of-War

Base: 150 P *3 ironwood multiplier = 450 P. **Crew**: Elite= +(50*20 gold)= +1000 gold cost **Marines**= +(10*20 gold)= +200 gold cost

Role: Battleship= +(15*20 P)= +300 P cost, +2 P upkeep

Ironclad: Orichalcum: +(4*20*5 P)= +400 P cost*Runed Steam Engines*: +(5*20 P)= +100 P cost

Runes:Best = +(20*20 P)= +400 P cost **Rocket Battery**= +(2*20 P)= +40 P cost

Cost: 1702 platinum Upkeep: 1200 gold

Dragon Carrier

Size: 40 Type: Hulk

Base: 500 P *3 ironwood multiplier = 1500 P. **Crew**: Elite= +(50*40 gold)= +2000 gold cost **Marines**= +(10*40 gold)= +400 gold cost

Role: Dragon Carrier= +(5*40 P)= +200 P cost, +4 P upkeep

Ironclad: Orichalcum: +(4*40*5 P)= +800 P cost Runed Steam Engines: +(5*40 P)= +200 P cost

Runes:Good= +(5*40 P)= +200 P cost **Rocket Battery**= +(2*40 P)= +80 P cost

Capacity: 10 Dragons

Cost: 3004 platinum Upkeep: 2400 gold

Superdreadnought

Size: 40 Type: Hulk

Base: 500 P *3 ironwood multiplier = 1500 P. **Crew**: Elite= +(50*40 gold)= +2000 gold cost **Marines**= +(10*40 gold)= +400 gold cost

Role: Battleship = +(15*40 P)= +600 P cost, +2 P upkeep

Ironclad: Orichalcum: +(4*40*5 P)= +800 P cost **Runed Steam Engines**: +(5*40 P)= +200 P cost

Runes:Best = +(20*40 P)= +800 P cost **Rocket Battery**= +(2*40 P)= +80 P cost Cost: 4004 platinum Upkeep: 2200 gold